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- CHEMISTRY
(Honours Generic/Regular)
Paper : CHE-HG-4016/CHE-RC-4016

( Solution, Phase Equilibrium, Conductance,
Electrochemistry and Functional Group
Organic Chemistry)

Full Marks : 60
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions :  1x7=7
weTs il epEee T w8
‘(a} Give an example of 1dea1 solution..

WR&WW‘?W&

(b) Write the equation for a two- component :
system phase rule.
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(d)

(e)

(9)

Write the unit of molar conductance.

e QH«HQ\M! a5 o1l |

,Arrange the following metals in an

increasing order of reactivity :

woTe il AeERE Aol Thas Al ¢
Na, Zn, Ag, Mg, Fe, Cu@

Complete the reaction :

s fiall AT R srempl <) ¢
OH

L socl, 5

Among the following which one is the

strongest acid ? -
I R Ol ST ?
i) CH$—CO0OH
(i) CICH,—COOH
(i) ClL,CCOOH

(iv) ClL,CHCOOH

Write the IUPAC name of the following
compound :

weTs fral GNe IUPAC SIS (il ¢

CH,—CH,— NH—CH,
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2. Answer the foHowing questions : 2x4=8
oo il eI Oed R g

(@) Vapour pressure of a liquid at 85°C

(b)

and 96°C are ‘557mm and 645mm
respectively. Calculate the molar heat

of vaporisation of the liquid between
SaOiand 965 C,

b1 CTEE AT il 85°C W% 96° C TaewTe
FAEE 557mm I 645mm e STAGR
85°C SiF 96° C THSIS a7 O 1T A edw
A e 2’90

What is the effect of dilution on the
specific and the equivalent conductance

of a solution ?

ISR (e [E sFEifzel o weniks

ARAIRS S SR

(c) Prepare 1°-amine by Gabriel phthalimide
synthesis.
(IR AR fOTT (AFTNIRES 291 1°-<i2s 2eo
ESIN
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(d) Explain‘ the basic strength of the
following amines in gaseous phase :

weTe Rl I3 Renes cﬁ\'ﬂ‘mwwﬁﬂ '

RIIRURC S
C,HsNH,, (C,Hs), NH, (C,Hs ), N

3. Answer the following questions : (any three)
; 5x3=15
weTe il SHIEINS ©es ol ¢ (Rieeizant foraot)

(a) What is amino acid ? Give examples of
two essential and two non-essential

amino acids. Explain what polypeptide

is. o 1+@x%)+2=5
G @ibs e [ el e IRERP S
S-SR Fhie e @fbes Snizad fral |
sifEcesbiRe e & 3o iR 4 |

(b) Convert D-Arabinose into a mixture of
D(+) glucose and D(++) mannose.
- 2x2%=5

D GSIRAER 91 D(+) 38 o D(++) GAS

FolES <Pl

[e). . Deriye the Clausms Claperyan
equation.

Feaz-EEARe TG SozieH < |
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(1)

(d)

(e)

Explain the principle of conductometric

titration of a strong acid vs. strong
base.

%wﬂawmﬁﬁﬁwwwaﬁr
WﬂTbTIT?tﬁTl ‘

Write some applications of electro-
chemical series and explain.

e ISP mﬁagﬁw%ﬁwmﬂ%@
T 9

Answer the followmg questions : (any three}

10><3 30

weTe Al ERe el i ¢ (ﬁmmfﬁﬁr)

(@)

Write the mechanism of the following
reactions : :

wete Twal feaR ety B e

H

CHS'—COOH L E@JEHLOH 2 5

O
I

Red P

CHlls—C @R Bn -

Br—CH, —COOH + HCI
<
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(b) Discuss cyclic structure of gluéose. FoAES A 2 FEeliRg 7ad 7ol RS 0t

Explain mutarotation. Write the

_ e T s A @b @b AT
difference between gluceose and : i | were i ﬁ?ﬁ] wmo
fructose. (TP TR TS sAfRAITZel) T HE g

D-2i% & ber 19 SIS R0y foait | fRreoireoee A% (HCI) = ol o mol!
& il =11 gG O FIE e AL m 3 .
forat | v - A% (NaCl) = 1260hm ™ cm?mol™"
iy A% (CH,COONa) = 91ohm"em?mol ™

(c) Draw and explain the phase diagram 3
of sulphur system. What does it mean

- Loy
by metastable equilibria ? (f) Determine the e

quinhydrone electrode and explain by

; ; nerit
PETRE ©E9 eieE e e S il < | | drawing diagram. W;Ia; AER g;fcg,l:;i
s . 2 ne .
CIBICE &lfdl Ay leret 6 ge 2 and demerits of quIniydro 743=10
(d) What is critical solution temperature ? : @WWW@W pH @Tﬁ?ﬂ?ﬁ@ﬁl
How can it be classified ? Explain lower BEEGA
: ; =i i
critical solution temperature -with -1 = o ﬁﬂ?m@ W
diagram. :243+5=10 e BIREIRSIRS SRR et

FIfes wel Gweel e & g@ie 2geg
Feie w41 | Fs-wifes mae Saeom [ac ba
S S G A

(e) What is Kohlraush law ? Explain two
applications of Kohlraush law.

Calculate A% (molar conductance at | R

infinite dilution) for acetic acid from
the following data : = 2+(2x2)+4=10

( 4200
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